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16AL-83

SECTION - A
Analytical Ability
FAn >Segss
Questions : 75 Marks : 75
Bdyeo 175 Srdypen: 75
(i) Data Sufficiency (Marks : 20)

Sgrot $omghs

Note : In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines :

(a) Mark choice (1) if the statement 1 alone is sufficient to answer the question.
(b) Mark choice (2) if the statement II alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
= question but neither statement alone is sufficient.

g (d) Mark choice (4) if both the statements I and II together are not sufficient to
= answer the question and additional data is required.

S5 1 1508 20 HBE a)d (DS (S 28 %), T 1808 I, T &0 thodven o
Bothy (DD SeroBorr QNGE"O. CRARES Sgromry), &NOINoW,
NS (BdsTren [DHS Direrardy, ai)otd dorgares wyseodr Boe
©d D dgdowd. & dgede (808 ErgE8E Srlzrer DAY
(1) %0& (4) HEE HB wowd 2 el JoDS Fohod :

(a) (DHH SdrerRo T 0%E (DR I $om($aD Zawséo“u)wé D 2w
(1) e Hdosodk.

(b) BHS ddrerdo VYo (HHEvo I (gD Horghvond D wacen
(2) e hBoBok.

© (DS Sdreedo 3T)osd Pdoren L I Sod Horgdioon eoHS®
D 2.8 & &rae Husgho 548 D warew (3) e Hoowod.

@ BHS POV mSTol ab‘aoésé; (@dSren I, I o Erae HurgRo s°8
&5y Serodo eddBond 2 earen (4) e $8oBod.



16AL-83

1.

e

If ais an integer and 100 < a < 200, what is the value of a ?

100 <2< 200 ©H&r a YroroSond, a Jeud Jos?

I When a is divided by 10, the remainder is 5.
ad 10 & A0S, 3w 5.

II.  When a is divided by 8, the remainder is 3.

[~

a8 & rrNodne, Bk 3.

What is the value of 6 ?
0 e does ?
I. sin20-1=0

il " A<d<n

What is the area of an equilateral triangle ?

28 JD 2250 (Behee) Qﬁ‘oga)oé /4

L.

[

ach angle of the triangle is 60°.
(8252208°) (H& S0 60°.
Il.  The height of the triangle is 12 cm.

(B82HD) 2 12 0.

If a and b are real numbers, what is the value of a3 + b3 ?

a,b & RS Dopgoowd, ad+b* Jevd Jod ?

I. a2+b%2=0
II. a+b=4
Isx<y??

2 < y? edEoce ?
L x<y

II.  xand y are non-negative real numbers.

X, yo SHBSS &9 Sopgen.

P.T.O.
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6.  What is the rate per metre length of the fencing of the rectangular field ?
28 HF JHY 58 FeR8 Sod Boherds a8 Db 0B I o ?

L The area of the field is 10,000 sq. metres.
38D Swego 10,000 3.2,

Il.  The total cost for fencing the field is Rs. 1,00,000.
3808 0B Sohardd Bwdo 90 &r. 1,00,000. L,,

7.  What is the value of the non-negative integer a ?
HBSE Hrgrogo a Jeud Jod ?
I 32 divides 33886.
33886 & 3% 2 A00B.

. - 7* divides 2058.
2058 & 7¢ AR08, ]

8. Isthe set A contained in the set of prime numbers ?
DB A, wareg dowrg HBS® soevoae ?
i Every element of A is a positive real number.
A &% (D8 Sroghy 28 §O &0 Jogg.

: i ;
g Ag {.\‘ eR|x< , for all positive integers n}'

.
Ac {xe R|©8 &8 grgeo¥o n &, .\—<;} k.

9. Is the real number a, positive ?
50 Howg a, H S8R ?
I sai=
.y a2=5a+6<0 oy 2
10. Isita Sunday?
©8 8dT B ?
L The same date in the previous year as a Friday.
(880 HoNSB0S® wd erdan H|Sardo Ywowod.
II. Itis 1* January 2088.
8 23050 1, 2088. 2—
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11. The price of which of the mobile phones A and B is reduced more ?
TS P A DO B & B 90 S Shosedod ?
E The price of A is reduced by 10%.
A 988 10% $hosedod.
II.  The price of B is reduced by 12%.
B 90 12% $hoswdod.

12. 1If a, b and ¢ are distinct prime numbers, is a an even number ?
a,b, c 0 DY) wyreag ;’Jomg@w@, a 20 Jopg ePHEocr ?
| The product of a, b and c is even.

a, b, c © ©20 30 Jowg.
II. The sum of b and c is odd.

= £ A Oy VA o
b, ¢ © IwEo T Joyyg.
S

13. Are a, b and c in arithmetic progression ?
a, b, ¢ & ©0¥ [FGS® DTk ?
L 5a, 5b and 5c are in arithmetic progression.
5a, 5b, 5¢ & wo¥ RRS® Hovyow.
L

II.  2a, 3b and 4c are in arithmetic progression.

2a, 3b, 4c v wo¥ RAS® Hvvyow.
U )

14. Is n divisible by 720 ?
n % 720 ereddr ?
L. n is divisible by 24 and 30.
n £ 24, 30 ev erasten.
II. n=a(a+1)(a+2)(a+3)(a+4)(a+>5)for some positive integer a.
2.8 &% ngg*oéo a¥,n=a(a+1)(a+2)a+3)a+4)(a+5).

15. Whatisa:b:c?
a:b:caoe ?
I aiib=

H. 1Yoz er=

o

3
6

n

W

.
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16.

17.

18.

19:

20.

For integersaand b,isa>b ?
Jrgrosten a, b 0¥, a>b vy&ose ?
L. +%lal>b

IL o 8

What is the value of sin 6 ?

sin B Vend oe?

"sin® 0 0
L The matrix 2 2 0 |is not invertible.
3 i

(sin® 0 )
w@é‘t g 2 DSTKopdn S
4

)

0
0
1

W b

II. 0O lies in the second quadrant.

0 Bo&’ &0S” HHB.

Does the natural number n divide 15n2 + 8n + 6 ?
1502 + 8n + 6 & Hdez Dowg n grasse ?
L n divides 10
10 £ n g,
II. ndivides 3!

3! % n grz¥o.

What is Z A in the triangle ABC ?
(82hz0 ABC &° LA dod ?

L LA=2/LB

i 3L B2

A and B are two sets. What are the elements of B ?
A, B & Godk HD&en. B &' drosten 0 ?
I. AnB=1{l, 234 5}

. A-B={7,8,9, 10}

16AL-83
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(ii) Problem Solving (Marks : 55)

(a)

Sequence and Series (Marks : 25)

Note : In each of the questions numbered 21 to 35 a sequence of numbers or letters that follow

21.

22.

23.

24.

25.

26.

27.

28.

29.

a definite pattern is given. Each question has a blank space. This has to be filled by the
correct answer from the four given options to complete the sequence without breaking
the pattern.

WSS 1 21 D Dot 0d 35 Soadh HBK Ko (HS @%le‘?s;&v RO Dopgen 1), sEored

™ 28 (Sdagiond JoLdrd) eIy, (8 ©H S, 28 5O CIANS
TP VWSO Dod 0 Lowd wIWD JED, BDED JadIrIE 2orio
SoHowe @60@@.

4,7,19, 67, , 1027

(1) 108 (2) 148 \;,3(259 @) 617
3 EEL s a3
510 "26 37
9 11 13 15

M 1 @ T @ 1 7
2+4/5,9+ 45, ,161+724/5
(1) 18+16\5 W 38+17\5 (3) 64+325 @) T72+64\5
ABD, EFH, , MNP, QRT
(1) GHI () DK @ 1L 4) JKM
994120'; #63
(1) 36 48 (3) 50 4 52
TWotesan .1
(1 D @ E W F @ H
510,06 0122, .~ .200,362
(1) 140 2 170 (3) 184 @ 226

2 .
225 25,28 » 40
\/ 1 2 2 *
() 37§ 2) 363 (3) 343 4) 353
AN, o) \/
(1) (13,11) (2) (14,12) (3) (15,13) @) (17,15

7 P.T.O.



30.

ks

32.

233

34.

35.

BAT, EDW, IHA,

(1) NMG (2) MNF
, IHN, SRX, CBH
(1) YXE 2) YXD

ABC ZYX . BFG :
(1) ECB v®) DCB

25, 49, 121, 225,
(1) 361 (2) 256

1800 : 1675 : : 3600 :

3

3)

Ve

1)

3275 2)
517 g SO PR
9 2)

3450

v

11 3)

,—31

Note : In questions 36 to 45, pick the odd thing out.
Bm5% 136 D0d 45 D8K Ko (HHoS” OB Kgotod.

36.
37.
38.
39,

40.

(1)
)
)
M

1)

.M
42, %)

43.

44.

45.

(1)
3)

1)
)

35 \é)
28 2)
FIHG 2)
80 2)

Bus complex ‘6)

20 s*o’ggg

&2 hul 2)
Hand (2)
Fow

#2+1=0

P+2x+5=0
K )

VIOLIN ®)

4 VB
65 3)
KNML vﬁ)
99 3)

Cinema hall (3)

DV W
2V2 3)
Eye 3)
§2$>l
2)
v
(& 3)

VEENA 3)

8

NME %
XYD @)
DCA )
529 )
3350 )
15 Vi)
72 )
126 ‘4)
RTUS )

120 vd)

Railway station (4)
SV

383 Ja

2X4 @

Ear \4)

D)

X+3x+6=0

X-x-12=0
G v

MANDOLIN ‘6)

16AL-83

NMF

YXF

FCB

676

3375

17

VYXW
163

Aerodrome

D (o0
2Z6

Mouth
et

FLUTE
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(b)

46.

47.

48.

Data Analysis (Marks : 10)
Note for questions 46 to 50 :

Study the following Pie diagram and answer the questions 46 to 50 :

46 - 50 (5 0% oSS

(8od D (Pie) Herdy HOBOOD (D)o 46 - 50 ©% 2ardD0d.

Printing

SSons8dy
Fo8ngo

Author's
royaltics

30% 30%

Advertisement
charges

If the author’s royalties amount to Rs. 30,000/- more than the printing charges, how much
will be the amount for advertisement charges ?

oSen pdne o8 S¥owsddy Fo&ngo 30,000 Sr. A Hond, (HELDL PBY)
2o ?

(1) Rs. 60,000 (2) Rs. 45,000 (3) Rs. 75,000 Vé) Rs. 90,000

What is the angle of the sector for miscellaneous charges ?

388 pdy® Vg 0 dod ?

(1) 16736 2) 7°24 Vé) 2% 4) 6°12

If the cost of the paper and the transportation put together amounts to Rs. 70,000, then the
total expenditure incurred in bringing out the book is (in rupees)

seNShw, S pS)© g 70,000 Er. wowd, YIE (HHSesdhy Iwgo P
(Srrobes®)

(1) 6,00,000 %) 5,00,000 (3) 5,40,000 (4) 4,50,000

9 P.T.O.
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49. The miscellaneous charges amount to Rs. 10,000 and a total of 13,000 copies of the book are
printed. What is the cost of each copy at which the book must be priced, if the publisher
desires a profit of 4% ?

388 B 10,000 . ©d, 13,000 HSen (Bomrdd ed¥omro. (Hdnsd 4%
ergfo orared § S 08, PHRYED 30 Jod ©d dgonowd ?

vﬂ) Rs. 40 (2) Rs. 36 3) Rs.52 (4) Rs.48

50. If the transportation charges are reduced by half, then how much is the saving if the binding
charges amount to Rs. 60,000 ?

Sarer BN DKo SN0WE 0B, Bodoh Fden 60,000 & wond, Jos o e
Yo ?
(1) Rs. 15,000 (2) Rs. 30,000 (3) Rs. 25,000 Vé) Rs. 20,000

Note for questions 51 to 55 :

In the bar diagram given below, the frequency distribution of workers in a factory is given
according to the number of dependents they have. Answer questions 51 to 55 basing on the data
given in the bar diagram :

51- 55 @4 o Srdd
28 éc"&méoeS‘ B T 50 Worew, 0D BErSDHE &0 Vowgod w@ & (808 b
HHoS® © B g TR Jgredo adgwdod. & w8 dwos adyd Swrorord)
sEr8o FEW (D en 51-55 0 2-HHg0d.

70

Literate Workers
60

SECRUGY
50
H Illiterate Workers
401 : 5 DSgoeRg HA:
30 |
No. of

Workers 20

HV0 104
Nopg

0
1 2 3 4 5 6

No. of Dependents es¢re8H&S &°0 boapg S

51. The total number of workers in the organization is

& HoRS® HY T 20 Ango Dowg

@ s

(1) 150 \é) 200 3) 250 (4) 300
52. The ratio of literate workers to illiterate workers is

oy B T8, VEFoTIg BTG A8

()2 00 (2). 2021 ) 21719 2(4) 19421

10
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53.

54.

55.

(c)

56.

57.

58.

The number of literate workers with atleast 3 dependents is

Edd0o 2t weed DES BN, ©EUmdgS o dIT0 éozp?g

(1) 350 (2)2)55 3) 65 \A) 45
The total number of dependents that all the workers have

Bwdn DT HOD BErERRS &0 Dowg

\4) 560 (2) 650 (3) 580 ) 540

What is the percentage of illiterate workers among the total workers ?
Andiw HIT0S® ASEoge TS0 Jod?
(1) 48 \/6) 47.5 (3) 485 @) 525

Coding and Decoding (Marks : 10)
Note for questions 56 to 60 :

In a code, the n"' letter in English alphabet is coded to KU letter, where
K = 3n + 2(mod 26), 1 < K < 26. For example, the 9" Jetter I is coded as C,
since 3 X 9 + 2 = 29 = 3(mod 26) and C is the third letter. The reverse of this process is

used for decoding. Based on these coding and decoding processes, answer the questions
56 to 60.

56 - 60 5% 0% oSS

K = 3n + 2(mod 26), 1 < K < 26 wond, 2008 o58ired®™ n $ oo, K &
wilorr §& JyH. sorrdnd 9 H vfso 1 & 3 % vio C m &6 IFs.
Qor¥oB 3 x 9+ 2 =29 =3(mod 26). B IS HEND & §°8 Tovards T ar .
& §°30h, & §°G0h (BEobud eHErAoD (D e 56-60 ©% wardigod.

The code word for ICET is

ICET & §°& HdSo

(1) CKPI (2) CKQI (3) CKQK %) CKQJ

The code word for JOLLY is

JOLLY & §'& H&o

(1): . SIEEY (2) SORRY \6) FULLY (4) PEITY

The word coded as GJEJQ is

GIEIQ r~ §°& Jade:dd diso

(1) STATD j \/6) STATE (3)' STBTE (4) STATF

11 P.T.O.
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59, The word coded as DENCU is
DENCU r~ §°8& Eo%hadd Hie

%1) RADIO (2) DANCE (3) RADIC (4) DELHI

60. The word coded as KUOXMIQD is
KUOXMIQD e §°& Babeadd o
(1) COMPLEXS M2) COMPUTER (3) COMMENCE (4) COMPLETE

Note for questions 61 to 65 :

The vowels of the English alphabet are arranged alphabetically and among these vowels, the et
vowel is coded as (r + 1)!" vowel and the last as the first. The consonants of the English alphabet
are arranged alphabetically and among these consonants, the r'h consonant is coded as (r — 1)
consonant and the first as the last. For decoding, the inverse process is followed. Basing on these
coding and decoding processes, answer questions 61 to 65.

61 - 65 L:D%l@é) Bisd

2005 ©FBIros’d elno oF 6D |8%006° 60y & oINS 1 D Bl
(r + 1) H 0BT, VD0 @il Ise s 86 Fopod. a0ty 9E8 HroS™
Sorod ol HEH|B0S® wknd), & Lot 1 e (r- 1) & o, IES
Srend DH0 e §8& Sohod. & §achs, 8 IS (DB BoBod. H8 ASHD
a0h oo & &oh PBoved wgrdorr BRED, 61 LoD 65 DK Ko (PHod
Jdrgrarodn (@ohod.

61. The code word for CRICKET is

CRICKET & §°& %0

(1) BQOBIAS (2) BQOBJAU \‘6) BQOBIIS (4) BQOBJAV
62. Which word is coded as CORBUTIQ ?

9 %o CORBUTIQ r §°6 Joherdod ?

(1) DISCLOSE (2) DISPLACE (3) DISPLAYS %) DISCOVER
63. The code word for EVEREST is

EVEREST % §°& $&o

\A) ITIQIRS (2) ITIQIRV (3) ITIQERS 4) ITIQITS

64. The code word for ENERGY is

ENERGY & && &0
(1) IMIQHZ (2) IMIQHX (3) IMISEX \'6 IMIQFX

12
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65. Which word is coded as QEMFIQ ?
2 B0 QEMFIQ r §°6& Sabadod ?

(1) RANGES \é) RANGER (3) PILGOP (4) SANGES
(d) Date, Time & Arrangement Problems (Marks : 10)

66. If the first day of a month is a Sunday, then the date of the Monday that comes after the
second Saturday of that month, is

a8 S0 8B S wdrdo wond, v Iost Bodd $dardo SSaes éZ“SQ
Jardo ) 8
(1) 8 2 9 (3) 15 \(/4) 16

67. In aleap year, if January first is a Tuesday, then March second of that year falls on
a8 O VodEYEoS® wbdd Znse B8 woXgso vond, © JodvsySost &r0)
Sodd 86 g S
\/« ) Sunday (2) Monday (3) Tuesday (4) Saturday
sdar80 Jdarso Dol 8o v Tete)

68. Fifteen years ago the ages of a mother and her daughter were in the ratio 6 : 1. If the
present age of the daughter is 20 years. then the mother’s age, in years, after 5 years from
now, is

15 Joddyore 8oss 2.8 O Doy Er&de So¥oyen 6 : 1 A 8S* G ow.
Erdodh D0 éo&:éob 20 éoééao*m Wond, 2N Bod 5 éoéé‘ao"’o S e
SO Haby, oD koS

1) 40 (2) 45 \4) 50 4) 55

69. The number of ways of arranging 4 men and 5 women alternately in a row so that the row
begins and ends with a woman, is
2.8 HBEVS® e Ldon DB ;’\33 08 5o, (8 agsd ?gjo quﬁg 28 HBR
&oééaé(g: TR Denthdh HhRoen by DS ‘gjoé) ®DEYIOAS Arare K)O&ps
(1) 280 2): 720 \6) 2880 (4) 3600

70. Five persons A, B, C, D, E are sitting around a table such that D is in-between A and BaC
is in-between A and B. Then the person sitting between B and D, is

A SE8Ddg D, A 8B 8 WSy C sodirwn o RgPe A, B, C, D, E a8 20
iﬁ.)%)J" éyﬁ‘bb G . @K)Q)da B&8D3§ 2.63455 §I‘5°QZ$;L és_én

1) A ) 3) D 4) E

13 P.T.O.



K2R

16AL-83

71. The number of times that the hours hand and minutes hand of a clock coincide in a day, is
0f B’ 28 KArS0S' Hobe dwey Bk Jdwhine e I8F0D
DoarSwe Sowg

VG) 22 ()25 3 24 4) 26

72. A person M starts walking from a point P straight towards East. After walking 100 feet he
turns to left and walks 45 feet straight. He again turns left and walks a distance of 60 feet
straight. Then he turns to the left and walks a distance of 45 feet. The distance between M
and P in feet, is

M o3 $58 o8 Dok P od &rdy SHH 8y Sesdso Buden Wied. 100
wdihen HEDE SHhard wsd D SHIH 80H S 45 @rhen DGV .
s Do XRIHEH 80A K 60 b HADVT. wOPd wSB B
(2% 80 45 wdibe Srdo dEDTE. M Ddok P o gy o &rdo,
wdibod®

(1) 60 (2). 39 (3) 45 %) 40

73. Pointing to a woman, a man said “The son of her only brother is the brother of my wife”.
How is the woman related to the man ?

28 9 BB SrPdr w8 PRk aor vande “ud IBE BB F B, S 2 dg
D88, © B © &y & Ko e oghgin A7

(1) Grand mother (2) Sister
@Eﬁ)&é}&/ a"o)’:éé:& 850

(3) Mother-in-law \41) Sister of father-in-law
wém Lo IS0

74. The operator * is defined by the equation x * y = 2x + y for all real x andy. If2*%a=a*3,
then the value of a =

o) D Dopgen x, y O HOEY * D x ¥y =2 +y BWEBER0E ASLOWER0B.
2% a=a*3 eond, a G ded
1 -1 2) 0 (3l 4) 4

75. The number of 3 digit positive integers that leave the remainder 5 when divided by 7, is
7 3 erRoRSHYd 5 & Fhomr EER Sriddwen EORS g8 Yrgrosto
dowg
(1) 142 2) 141 \4) 129 4) 128
14
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